Find DF
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JU =3%xiL
g =
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6) Find CD




Find DE
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Write the following as a conditional statement
I-c = Llan

An isosceles triangle has at least 2 congruent side:

Tk o {:-r-'a.n:,[g i fboscfasj Lthen it hes ¢t lest 2 A siles.

Write the converse of your conditional statement S beh & (3 "‘E'-wr\

-]:p & Ef.',-...b[; hes a.,(,' l-¢¢-5"7 A= Sklf-s) '&,L-n {',L-. {'..r-':.nsle. s

I'sosceley.

Combine your two statements above into one I\’..-,Pl.u.g. b2 17 —blen with il and only
bicondtional statement i P

A {:r‘-‘“bl‘ IS isosceles .’£ endd onir F at lewst

2 sides are =,



'7{ . \)[i‘s"*'lfj"c‘z =Yy
DisTANCE FORMULA Find the lengths of the segments. Tell whether any of
the segments have the same length. (‘_ -5"3) ( DJZ)

hC =\Jlo-c))H(z-0>
2NN Y = W =V s
(6,s) (o)

& oy

l\ N e = A =Jus
A CD = \ﬁa-l)'“*('z (-4))" }
C=R%C
AC=EC R )




Find the midpoint with the given endpoints . X;H v 4y,

2
(-2, 3)and (8, 5) (4, 6) and (-5, -2 > 2
2t B+S (‘1_"_2%5_'3 ‘”’iﬂ

2 ) = )

(49 | (%)
eI) ';; 9)



You are given one endpoint of a segment R, and the midpoint M.
Find the other endpqtint "

i

Al Py ; :
J |24
R (2, 6) R (3, -12 }4)(}@ ( Z)( ]
M(-1,1) M(2,-1
1+ Y  —124yy=-2
(YA)\/J..) SH%= 73

*@L}m%%}@ ) | (1,10)
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Write the inverse and contrapositive of the given conditional statement
I te

i (
If it is January, then it has 31 days Trvuse — op pes: te net

I‘huﬂr'at.

Lk fa hoe :S"\-hﬂf?fj tlan I{': Jo«r,s. hp{: have Bl afa’/:,

Cbh{}rn[)és:é.-'ec.—? Conucrse of Fnvevse
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USING ALGEBRA BD bisects 2 ABC. Find the value of x.

: B 48.
A1 :;j o 1Sxrig [0
(2x + 7)° (15x 4+ 18)°
A D
B Q3x-|€

BT =0 /S¥ +1% = 3% - 1Y

T =ad%x~9 1= $x~1Y

s 32 §x

=%

X= 9



FINDING ANGLES In Exercises 12-17, complete the statement given that
m£ EHC = ms DHB = m< AHB = 90°

12.1fms7 =28 thenmz3=_2 QA%
13.1ims EHB = 1215, thenm/i 7 = _2__
4. fms3 =34 thenms5=_2 .

15. If mz GHB = 158°, then m2 FHC = _2_.
16.1fms7 = 31" thenmi6=_1 .

17. 6 mLGHD = 119, thenmid = _27 .

121-40
l%o'"‘i 31

miY

Ml oymil=490°

@wd‘!‘:—‘w’

=5




Write the 2 conditional statements implied by the biconditional statement

A quadrilateral is a paralellogram if and only if the opposite angles are congruen t

I—C o iu,a;j.r.-lr,é erel rsa Pr..n..”e.labn.n‘, ‘é,lwq -I;L.,. orpas.'{::. """‘51‘_':.

are =

I‘l [ f:.ur.a'f.' {g-('en-l 1~.5 0??0'5:&:_ analc ';:J 'qu.n .'é P
th.. “of.j ver



Find the value of the variable(s)

28.
Hw -kﬂw a

2x + 25) \ 30
Yw k10 4150 =f¢o 20X+ 230 =150

Tw Flo= 150 AX+S0 L 2x-30=1%0
w = 170 Ux +20=1¢p
{w‘=-io
- YUy = lGo
By + A X: L,to
3X+20= §X-50 353?3 beo
o
QO = AR=S0O
20 = ax Y-Hlf; =lg0
Y= T \/: 5%

10z + &5}

'_'7)/: qY—“Bg
*}f = =55
Y= 35

3(247) = [O0BHYS
132421 = (0E+YS

g4l =4S
gr= Y
2= >



GIVEN - /5=/6

PROVE = /4= /7
5&4{'{“6*'{' Izﬂ. x =
l) LS- ,"_".\:d-fr D Griven
) LluT e D) Verdied LS are S
L=

) LYELT

3) Subgd: betiom i




Write the converse of the given conditional statement

If the month is Feburary, then it is the shortest month of the yea

Use the conditional statement and the converse you wrote to write a biconditional statemen



GIVEN » 2 | and £ 2 are complements,
£3 and £ 4 are complements,

Lla L4
PROVE » .~ ]| = 23

78N\

Statements Reasons
1. £ 1 and £2 are complements, .1
£ 3 und £ 4 are complemenis,
L2= L4
- A ST B 2. Def. of complementary angles

Imil +mid=mL3+mid
&mid=mid
Smil+mll=mi3+msd

Bmil=msi}
]

¥

3. Transitive propenty of equality

L
S

L .

2

7. Definition of congruent angles



Statement

1)
2)BC=YZ AC=2)

3)AC =AB + BC
XZ=XY +Ye

4)AB + BC = XY + Yz
5)AB + BC = XY + BC
6)

7)

A B
@ &
® @
X Y
Reason

1)
2)
3)

4)
o)
6) Subtraction Property

7)

~N® @o



